
ASSEMBLY INSTRUCTION FOR

KING BED WITH TWO END TABLES

UB-4210-8020-KB

Caution : Please read instructions thoroughly before unpacking assembly parts. Sharp, exposed

staple tips cause injury, therefore for your protection, please remove any exposed staples used

in packing.

1. We recommend that you should assemble this product with the assistance of another person;

this will make assembly easier, and will help to eliminate damage to the product or injury to

persons during assembly.

2. Be sure to check all packing materials carefully for small parts that may have come loose

inside the carton during shipment.

3. Please do not over tighten screws or bolts.

4. Please put all parts on a non-abrasive floor before assembly, and follow the assembly step to

assemble your newly purchased product correctly and efficiently.

MADE IN MALAYSIA

PAGE 1 OF 5

PART LIST FOR KING BED

NO PART DESC
PART CODE QTY

A

B

C

D

E

F

G

H

I

J

Headboard

Footboard

Wings

Side Rail

Headbord Left &

Right Support Legs

(2 PCS/SET)

Support Legs

(PCE)

Footboard Leg

(PCE)

Roll Slat (PCE)

Side Rail

Leg (PCE)

Center Rail

(PCE)

1pcs

1pcs

2pcs

4pcs

2pcs

8pcs

2pcs

12pcs

2pcs

4pcs

HARDWARE LIST FOR KING BED

NO HARDWARE DESC

1

2

3

4

5

6

7

8

9

10

11

CSK Screw 32mm

JCBC M6 x 25

JCBC M6 x 30

JCBC M6 x 50

JCBC M6 x 60

JCBB M8 x 20

Flat Washers

Spring Washers

Adjuster

24pcs

12pcs

14pcs

6pcs

8pcs

8pcs

22pcs

6pcs

1pcs

1pcs

12pcs

QTY
HARDWARE CODE

PUB-4210-8020-HBLEG

PUB-4210-FBLEG1

D1 D2

L Key M6

L Key M8

K

L

4pcs

1pcs

C1

C2

PUB-4210-8020-BDSPL

PUB-4210-8020-KBSLT

Hinge

Base Leg

Strecher

PUB-4210-HIN

PUB-4210-KHSTR

PUB-4210-KBHW

UB-4210-8020

PUB-4210-SRL

PUB-4210-8020-BDCRL

UB-4210-8020

UB-4210-8020

UB-4210-8020



MADE IN MALAYSIA
PAGE 2 OF 5

STEP 1

STEP 2

STEP 3

Unwrap the black non-woven fabric on the back of headboard and take out all the parts out.

Attention: Wrap the black non-woven fabric after take out the parts !!

BACK VIEW

A
E

E

9

Fix the headboard (A) with legs (E) as shown.

 Attach the headboard (A) to the wings (C).

BACK VIEW

BACK VIEW

4

8

9

3

7

C1

A

11

ATTENTION:

Please keep the adjuster

around 5 to 8 mm distant

away from the floor.

UB-4210-8020-KB

C2

ASSEMBLY INSTRUCTION FOR

KING BED WITH TWO END TABLES



MADE IN MALAYSIA

PAGE 3 OF 5

STEP 4

STEP 5

STEP 6

BACK VIEW

Attach the JCBB Bolt (6) to the headboard (A) and footboard (B).

A

3

7

9

C1

C2

A

BACK VIEW

E

E

L

3

7

9

K

UB-4210-8020-KB

Attach the base leg strecher (L) to the headbord legs (E).

Attach the hinge (K) to the headboard (A).

B6

10

ASSEMBLY INSTRUCTION FOR

KING BED WITH TWO END TABLES



MADE IN MALAYSIA

PAGE 4 OF 5

STEP 7

STEP 8

STEP 9

UB-4210-8020-KB

6

Fix the footboard (B) with legs (G) as shown.

Attach side rail leg (I) to the side rail (D).

Attach side rail (D) to the headboard (A) and footboard (B) by pushing the bracket down to fit it.

9

2

7

D1

D2

I

2

9

B

G

ASSEMBLY INSTRUCTION FOR

KING BED WITH TWO END TABLES



MADE IN MALAYSIA

PAGE 5 OF 5

STEP 10

UB-4210-8020-KB

STEP 11

STEP 12

Completed.

1

X24

10

Tighten the 4 Corner with Allen Key (10). Install the bed slats (H) to side rail (D). Tighten the slats (H) with CSK

screw (1). The distance of the slats should be sufficient to obtain desirable bed stability.

Attach the support legs (F) to the slats (H) and center rail (J).

11

H

H

ATTENTION:

Please keep the adjuster around 5 to 8 mm

distant away from the floor.

J

5

9

H

F

ASSEMBLY INSTRUCTION FOR

KING BED WITH TWO END TABLES



ASSEMBLY INSTRUCTION FOR

QUEEN / KING BED WITH TWO END TABLES

PAGE 1 OF 17

MADE IN MALAYSIA

Caution : Please read instructions thoroughly before unpacking assembly parts. Sharp, exposed

staple tips can cause injury, therefore for your protection, please remove any exposed staples used

in packing

1. We recommend that you should assemble this product with the assistance of another person;

this will make assembly easier, and will help to eliminate damage to the product or injury to persons

during assembly.

2. Be sure to check all packing materials carefully for small parts that may have come loose

inside the carton during shipment.

3. Please do not over tighten screws or bolts.

4. Please put all parts on a non-abrasive floor before assembly, and follow the assembly step to

assemble your newly purchased product correctly and efficiently.

NO

QTY

PART DESC PART CODE

PART LIST FOR END TABLE

Top Panel
1

NO

QTY

HARDWARE DESC

HARDWARE

HARDWARE LIST FOR END TABLE

A

CODE

1pc

2

1pc

3
1pc

4

1pc

5

1pc

Left Side Panel 
6

1pc

Right Side Panel
7

1pc

Divider Panel   
8

1pc

9

1pc

10

1pc

11

1pc

12

1pc

13

1pc

14

1pc

15

1pc

16

1pc

Back Panel
17

1pc

8x25mm Dowel 32Pcs

B

8x20mm Dowel 2Pcs

C

15 MM

22Sets

D

M3.5x16mm Screw 12Pcs

E

M4x20mm Screw 

F

G

M4x18mm Handle Screw 

H

Drawer Slide (300mm)

2Pcs

1Pc

2Pcs

1Set

Myfix Minifix

JD2507 L138mm x W16mm x H18.5

CC128mm Bright Nickel (Chrome)

Left Leg Front Panel

Right Leg Front Panel 

Left Leg Back Panel 

Right Leg Back Panel

Top Stretcher Panel

Front Drawer 

Stretcher

UB-4210-8020-QB / UB-4210-8020-KB

PUB-4210-ETHW

PUB-4210-8020-ETTOP1

PUB-4210-8020-ETDRW1

PUB-4210-8020-ETDRW2

PUB-4210-8020-ETDRW3

PUB-4210-8020-ETDRW4

PUB-4210-8020-ETDRW5

PUB-4210-8020-ETDRW6

PUB-4210-8020-ETBPN

PUB-4210-8020-ETLEG1

PUB-4210-8020-ETSPN1

PUB-4210-8020-ETDVD

PUB-4210-8020-ETTST

PUB-4210-8020-ETDST

PUB-4210-8020-ETLEG2

PUB-4210-8020-ETLEG3

PUB-4210-8020-ETLEG4

PUB-4210-8020-ETSPN2

1st,2nd Row Drawer -

Front Panel

1st,2nd Row Drawer -

Left Side Panel

1st,2nd Row Drawer -

Right Side Panel

1st,2nd Row Drawer -

Back Panel

1st,2nd Row Drawer -

Supporting Panel

1st,2nd Row Drawer -

Base Panel



PAGE 2 OF 17

MADE IN MALAYSIA

Flat Shaped - Left

"L" Shaped - Left

Flat Shaped - Right

"L" Shaped - Right

ASSEMBLY INSTRUCTION FOR

UB-4210-8020-QB / UB-4210-8020-KB

QUEEN / KING BED WITH TWO END TABLES



STEP 2

B

9

STEP 1

A

12

13

17

8

14

7

6

10

A

8x25mm Dowel 32Pcs

B

8x20mm Dowel  2Pcs

PAGE 3 OF 17

MADE IN MALAYSIA

ASSEMBLY INSTRUCTION FOR

UB-4210-8020-QB / UB-4210-8020-KB

QUEEN / KING BED WITH TWO END TABLES



PAGE 4 OF 17

MADE IN MALAYSIA

STEP 3

C

14

1

6

7

2

3

4

5

12

13

11

This is how a mini fix works ...

The head of the mini fix housing goes into the open

mouth of the mini fix bolt.You then turn the mini fix

housing so it tightens over the mini fix bolt.

C

6

7

3

4

C

Myfix 22Pcs

STEP 4

C

Minifix  4Pcs

ASSEMBLY INSTRUCTION FOR

UB-4210-8020-QB / UB-4210-8020-KB

QUEEN / KING BED WITH TWO END TABLES



PAGE 5 OF 17

MADE IN MALAYSIA

STEP 5

8

10

C

6

7

5

2

4

3

C

Minifix  4Pcs

This is how a mini fix works ...

The head of the mini fix housing goes into the open

mouth of the mini fix bolt.You then turn the mini fix

housing so it tightens over the mini fix bolt.

STEP 6

ASSEMBLY INSTRUCTION FOR

UB-4210-8020-QB / UB-4210-8020-KB

QUEEN / KING BED WITH TWO END TABLES



PAGE 6 OF 17

MADE IN MALAYSIA

STEP 7

D

M3.5x16mm Screw  3Pcs

H

Drawer Slide 300mm-L  1Pc

D

7

2

4

H

Flat Shaped - Left

ASSEMBLY INSTRUCTION FOR

UB-4210-8020-QB / UB-4210-8020-KB

QUEEN / KING BED WITH TWO END TABLES



D

7

3

5

D

M3.5x16mm Screw  3Pcs

H

Drawer Slide 300mm-R  1Pc

H

Flat Shaped - Right 

PAGE 7 OF 17

MADE IN MALAYSIA

STEP 8

ASSEMBLY INSTRUCTION FOR

UB-4210-8020-QB / UB-4210-8020-KB

QUEEN / KING BED WITH TWO END TABLES



PAGE 8 OF 17

MADE IN MALAYSIA

STEP 10

17

8

10

2

4

4

2

8

10

C

6

C

Minifix  2Pcs

This is how a mini fix works ...

The head of the mini fix housing goes into the open

mouth of the mini fix bolt.You then turn the mini fix

housing so it tightens over the mini fix bolt.

STEP 9

ASSEMBLY INSTRUCTION FOR

UB-4210-8020-QB / UB-4210-8020-KB

QUEEN / KING BED WITH TWO END TABLES



PAGE 9 OF 17

MADE IN MALAYSIA

STEP 11

STEP 12

C

8

10

7

6

17

3

5

1

9

E

E

M4x20mm Screw  2Pcs

C

Minifix  2Pcs

This is how a mini fix works ...

The head of the mini fix housing goes into the open

mouth of the mini fix bolt.You then turn the mini fix

housing so it tightens over the mini fix bolt.

ASSEMBLY INSTRUCTION FOR

UB-4210-8020-QB / UB-4210-8020-KB

QUEEN / KING BED WITH TWO END TABLES



MADE IN MALAYSIA

STEP 13

STEP 14

PAGE 10 OF 17

1

7

3

5

8

1

6

2

4

8

C

6

7

C

This is how a mini fix works ...

The head of the mini fix housing goes into the open

mouth of the mini fix bolt.You then turn the mini fix

housing so it tightens over the mini fix bolt.

This is how a mini fix works ...

The head of the mini fix housing goes into the open

mouth of the mini fix bolt.You then turn the mini fix

housing so it tightens over the mini fix bolt.

C

Minifix  2Pcs

C

Minifix  2Pcs

ASSEMBLY INSTRUCTION FOR

UB-4210-8020-QB / UB-4210-8020-KB

QUEEN / KING BED WITH TWO END TABLES



MADE IN MALAYSIA

STEP 15

STEP 16

PAGE 11 OF 17

13

14

12

13

14

C

C

This is how a mini fix works ...

The head of the mini fix housing goes into the open

mouth of the mini fix bolt.You then turn the mini fix

housing so it tightens over the mini fix bolt.

This is how a mini fix works ...

The head of the mini fix housing goes into the open

mouth of the mini fix bolt.You then turn the mini fix

housing so it tightens over the mini fix bolt.

C

Minifix  1Pc

C

Minifix  1Pc

ASSEMBLY INSTRUCTION FOR

UB-4210-8020-QB / UB-4210-8020-KB

QUEEN / KING BED WITH TWO END TABLES



MADE IN MALAYSIA

STEP 17

STEP 18

PAGE 12 OF 17

C

12

11

13

15

12

15

16

13

14

C

This is how a mini fix works ...

The head of the mini fix housing goes into the open

mouth of the mini fix bolt.You then turn the mini fix

housing so it tightens over the mini fix bolt.

This is how a mini fix works ...

The head of the mini fix housing goes into the open

mouth of the mini fix bolt.You then turn the mini fix

housing so it tightens over the mini fix bolt.

C

Minifix  1Pc

C

Minifix  1Pc

ASSEMBLY INSTRUCTION FOR

UB-4210-8020-QB / UB-4210-8020-KB

QUEEN / KING BED WITH TWO END TABLES



MADE IN MALAYSIA

STEP 19

STEP 20

PAGE 13 OF 17

11

13

12

14

C

11

12

13

14

C

This is how a mini fix works ...

The head of the mini fix housing goes into the open

mouth of the mini fix bolt.You then turn the mini fix

housing so it tightens over the mini fix bolt.

This is how a mini fix works ...

The head of the mini fix housing goes into the open

mouth of the mini fix bolt.You then turn the mini fix

housing so it tightens over the mini fix bolt.

C

Minifix  1Pc

C

Minifix  1Pc

ASSEMBLY INSTRUCTION FOR

UB-4210-8020-QB / UB-4210-8020-KB

QUEEN / KING BED WITH TWO END TABLES



MADE IN MALAYSIA

STEP 21

PAGE 14 OF 17

F

G

11

12

14

13

F

 1Pc

G

M4x18mm Handle Screw  2Pcs

JD2507 L138mm x W16mm x H18.5

CC128mm Bright Nickel (Chrome)

ASSEMBLY INSTRUCTION FOR

UB-4210-8020-QB / UB-4210-8020-KB

QUEEN / KING BED WITH TWO END TABLES



MADE IN MALAYSIA

STEP 22

PAGE 15 OF 17

11

12

14

D

D

D

H

H

H

H

H

Drawer Slide 300mm-L  1Pc

D

M3.5x16mm Screw  3Pcs

"L" Shaped - Left 

ASSEMBLY INSTRUCTION FOR

UB-4210-8020-QB / UB-4210-8020-KB

QUEEN / KING BED WITH TWO END TABLES



STEP 23

H

Drawer Slide 300mm-R  1Pc

PAGE 16 OF 17

MADE IN MALAYSIA

D

M3.5x16mm Screw  3Pcs

11

13

14

H

H

H

H

D

D

D

"L" Shaped - Right 

ASSEMBLY INSTRUCTION FOR

UB-4210-8020-QB / UB-4210-8020-KB

QUEEN / KING BED WITH TWO END TABLES



PAGE 17 OF 17

MADE IN MALAYSIA

STEP 24

STEP 25

11

1

6

4

2

5

3

Completed

ASSEMBLY INSTRUCTION FOR

UB-4210-8020-QB / UB-4210-8020-KB

QUEEN / KING BED WITH TWO END TABLES


